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7. Determine (yes/no) whetherthe functions
below are inverse functions. Be sureto

show all of the work for both compositions,
|i_‘ oglxl and [go

f)xi to prove.

/ f(x)=10—§JN(\r)=2o—2x
oo = 10-(%52) [y(-2)-20-200-%)
= )0-(lo =)

< >
=0 =10 +x

=) -2 4 2=
=¥ ;‘

=2

X
Y. =X

15 2*\%4‘\ 45—'\.)@

2/o5 /> G5 ErE
2512
Joe t 35 — 2/




March 21 2013 3rd.gwb - 2/6 - Thu Mar 21 2013 10:07:55

/= 24 | —&
|
NN Vi I
4o X
53R

™

|\

[

Ao
N
K
i
1]
\._)____3{\_ \/\]‘ N
T
‘r“.
N
-

3 \
-

P
—F

9
N

AN
\d
N




March 21 2013 3rd.gwb - 3/6 - Thu Mar 21 2013 10:17:07

B3y
acj'cj Cb ,(-’—'—*: DT—‘
e JCE,CQ

2 7]

73,% 30 £
Ln® = n An

q 9
- Y 9 7
r____,_,__r-—;—: C




March 21 2013 3rd.gwb - 4/6 - Thu Mar 21 2013 10:29:08

>/: 2 Hi

X = =2y 14
(X-4= -2
(Y= -2y
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